Final - MAT 099 - Summer 2013

Name V{W

Instructions. Only calculators are altowed on this examination. Each problem is worth 10 points. Always use the appropriate wording
and units of measure in your answers (when applicable). SHOW YOUR WORK NEATLY, PLEASE (ne work, no credit).

Instructor: Dr. Francesco Strazzullo

1. Solve the linear equation and simplify your answer.
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2. Graph the solution set of the following linear inequality:
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Consider the graph of the line connecting the given points, A and B.
A(—4,-3),B(8,—9)

Step 1. Find the slope. If applicable, write "Undefined" for the slope.
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Step 2. Find the y-intercept (if there is one).
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Step 3. Determine the equation of the line.

Solve the system of two linear inequalities graphically.
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Graph both inequalities (labeling the boundary lines), shade the region which satisfies the solution set, and label the corner
point.
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A dairy farmer wants to mix a 80% protein supplement and a standard 40% profein ration to make 1800 pounds of a high-

grade 45% protein ration. How many pounds of each should he use?
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6. Solve the following system of linear equations. Please determine whether the given system of linear equations is consistent,
inconsistent, or dependent. If the system is consistent, please indicate the solution. )
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7. Multiply the binomials using the FOTIL. method. Combine like terms.
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Find the product of the binomial factors using the appropriate special product (difference of two squares, square of a binomial
sum, or square of a binomial difference).
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Completely factor the trinomial. If the rinomial cannot be factored, write not factorable.
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Completely factor the trinomial. If the trinomial cannot be factored, write rot factorable.
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Tn a 700, the ratio of adults to children is 15 to 6. If there are 168 people in the zoo, how many children are there?
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The volume of a gas in a container varies inversely with the pressure on the gas. If a gas has a volume of 410 cubic inches
under a pressure of 7 pounds per square inch, what will be its volume if the pressure is increased to 17 pounds per square
inch? (Round off your answer to the nearest cubic inch.)
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